Potencias de 10 (I)

4.9384 0.1

1.0685 -1

4.6163 0.1

1.7155+1

5.709 =100

6.9957 = 1000

2.8631 + 1000

7.1089 +-0.01

2.8735+0.01

3.8306+-0.001

Calcule los siguientes cocientes.

7.4606 =10

8.4829 0.1

7.167 =1

5.1123+100

7.6152-+-0.001

991741

4.4708 0.1

1.7636 =100

3.5255+0.001

4.1252 +100
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Potencias de 10 (I) Respuestas

4.9384 0.1
49.384
1.0685+1
1.0685
4.6163 0.1
46.163
1.7155+1
1.7155
5.709 =100
0.05709
6.9957 + 1000
0.0069957
2.8631 1000
0.0028631
7.1089 +-0.01
710.89
2.8735+0.01
287.35
3.8306 +0.001
3,830.6

Calcule los siguientes cocientes.

7.4606 - 10
0.74606
8.4829 =0.1
84.829
7.167 1
7.167
5.1123 - 100
0.051123
7.6152+0.001
7,615.2
99174 +1
9.9174
4.4708 +0.1
44.708
1.7636 =100
0.017636
3.5255-+0.001
3,525.5

4.1252 =100
0.041252
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